mm FKEFERHERR(2HH)

(5548 18~)

EKEEAAE B & EKEEAAE TR EKEEAAE TR EKEEAAE TR
(m®) (M) (m®) (A) (m?) () (m®) ()
20mMLLTF 2,034
21 2,196 4] 5,452 61 9,160 81 13,516
22 2,358 42 5,636 62 9,378 82 13,734
23 2,519 43 5,819 63 9,596 83 13,952
24 2,680 44 6,002 64 9,814 84 14,170
25 2,842 45 6,186 65 10,031 85 14,387
26 3,004 46 6,370 66 10,248 86 14,604
27 3,166 47 6,554 67 10,466 87 14,822
28 3,328 48 6,738 68 10,684 88 15,040
29 3,490 49 6,922 69 10,902 89 15,258
30 3,652 50 7,106 70 11,120 90 15,476
31 3,813 51 7,289 71 11,338 91 15,694
32 3,974 52 7,472 72 11,556 92 15,912
33 4,136 53 7,656 73 11,774 93 16,130
34 4,298 54 7,840 74 11,992 94 16,348
35 4,460 55 8,024 75 12,209 95 16,565
36 4,622 56 8,208 76 12,426 96 16,782
37 4,783 57 8,391 77 12,644 97 17,000
38 4,944 58 8,574 78 12,862 98 17,218
39 5,106 59 8,758 79 13,080 99 17,436
40 5,268 60 8,942 80 13,298 100 17,654
LERESZETHET (10%) NEEN-2%ETT,
TKEFERAHEEEE (1MNAHEY)
X VAN » = > = *‘I’ﬁiﬁlﬁ
X % FEKEERRE (E/KEDFERKE) Btk =)
(BEAXHE) 1 OMUTDOELEESS
BEKHEBREN 10 0MUTOES 925
HEKEERREN 10 1 mMULEDIES 1, 900H
(iR E) 11mhd 20mMET 1478
1 mBif 2 1mmi 30mM%ET 167H
—figiEK 31mMhd 50M%ET 1981
51mad 100mM=ET 239M
101mMhsd 500mM%T 289MH
50 1mMhd 1, O0OOMET 335M
1, 001mMd 2, O0OOMET 383H
2, 00 1mMhd 432H
B5EK 1mizD&E 10H
OFEETEXR/ARELI-ERAKE (2R Z1MATEIZRITTHELET,

OFH LIBICTHERFMHELEEE (10%) Zm&EL.
ORANHBETHMXIIKLEFL-EZDFEAMIE. FRABKNA16BULDBZEE1AS.

ELTERHEZHRLFET,

1TARBDOWBEDNVIETES,

16 BXRFDEHEIT1 Ao DHEE

O1ADKEZ 2HBFLULTHALTWAIGEIE, B#ERICIVEHTH-HAFEICLEYET., (FAICBEABETY)
[EHHFI] 7RH5EKRSD (56 A% OFERKE (BREKE) A6 1 mDFE
®) 6 1mMm+-2A=30mMKY1 1MA31TmM 1MA30mM
58 31m
(EXRHE) 10mUT romj EXHE 925M
(BafE) 11mhd 20mM=ET M omj 10mx 1mE(f 147M= 1,470M
21mhsd 30mMET rMomi 10mx 1mEffi 167M= 1,670M
31mhd BOMET r 1mjy 1Tmx 1mEfME 198H= 198H
BitEHEE 31m (B&%H=Y) 4, 2630
4,263 x HEFI1.10% = 4,689 5 R 4, 689D
6A% 30m
(EXHEE) 10mUTF rMomj HAEH & 925M
(Bafe) 11mhd 20mMET M omj 10mx 1mE(f 147M= 1,470M
21mhs 30mMET 1 omj 10mx 1mE{E 167M= 1,670M
AitEH%EE 3om (A&H1=Y) 4,065M
4,065 x SHERI.10% = 4,471 R 4,471MQ
7RAERSD(5 - 6 A9) FAEEAX 9,160M (D+Q)




